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(i) AW questions-are compulsony.! T i

(it) In the beginning of eth question, the
number of parts to
clearly mentioned.

(iv) Marks allotted to the questions are
indicated against them.

(v)  Start from the first question and proceed
to the last.

(vi) Do not waste time over a question you

cannot solve.
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Attempt any four parts of the following : 2. Attempt any four parts of the following:. 1 -
d - o o
(a) .; Find., the' value of *j;af the  function (a) Find the dl?FEl:Entla] co-efficient of cos™'x
dr. from first principle. :
I+ 3y =sinx. 1 .
' COS X
(b) Evaluat f —=L (v) EvaluateJ = dv. 2
Hae ] Secxtrany & 1 sin-y
() State the order and degree of the differential © ¥ d=51-7-3k8=T+37- 5k show
Equatmn .
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dv? dx
\ — s e o = = (d) Evaluatejxltan-Idex
() InanyAABC, provethat AB+BC+CA=0 1 E: E AT N o2
(¢) In figure ABCD is a parallelogram, middle = = N ' ' dv
points of sides AB and BC are E and F. If : : (€)  Solve the differential aquaﬁun—1=_(l—+ﬁj 2
L — < < dx Y
AB= a,DAD = b, find the vector EF. 1 - - :
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3. Attempt.any four parts of the following :

(2) Find the equation of the tangent to the curve ' '
"7y =x?E4x - S at the point x = -2, . (%) TR y? = 16 % T e F FHD
A0 W . T PRI R -3 F 60° FT F0 FALL |
(b) Evaluate S Ay w.rt x z . - 2
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(c) Solveﬂ1ediﬁ'ﬁ'mﬁalequalion%+[]—il)=0. 2 s g
(d) Find a vector parallel to the given vector (@) & e fawal ¥ 7 sat @lied & £ 500 i
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4.  Attempt any three parts of the follnwing; () whfn f\ﬁqﬁﬁqﬁgﬁ 2} 4 ]'- + 3t 3
(a) Find the differential co-efficient of the ¥ et . .
function sin™! 20\l =X w.rt.x, 3 FH60°% )
dx
E Thres
(b) valuatef ] 3 3. Attemp AnY three parts of (he following
. . . d T
(¢)  Solve the differential equation IE=;-+-S|~E; ® s ﬁn.:.u:: “Qualion of () normal of ghe
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(b} A fruit seller can invest 2 500 o purchase
apples and oranges, Only 12 boxes of fruits
can be placed in his shop. Cost of one box
of apples is # 50 and one boy of oranges is
¥ 25. He can sell with a profit of ¥ 10 per
box of apples and 2 ¢ per box of oranges. If
he sells all the boxes, then how many boxes
of apples and oranges should he purchase,

50 that he could get maximum profit ? 3
Kl
dy n
¢) Prov t.hatf =7 3
(€ Prove | +yftany 4

0
(d) Show that angle between vectors 2 + 'f + 3k
and 37 - 2] + K is 60°, - 3
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6.  Attempt any one part of the following :

() Show that a minimum cloths use to make
definite volume of conical tent when height
and radius of the base af the cone is in (he

ralio ahﬁ:L 4
n

xdx

(b) Prove that f
0
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7. Attempt any one part of the following :

(a)  Verify the mean value theorem for the function
flx) = - 522 - 3x in the interval [a, b), where
a=I,h=3.Find1'{c}=0wherece(1,3). 4

(b) Find the area enclosed between parabola
¥* =4 ar and straight line y = 2ar. 4
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TtYy<4,x20,y>0 -
z=3:+4y¥l3‘fﬁﬁlﬂﬂwmﬂ
8. Attempt any o part of the following :
(8) Shuwtlmmestrajgﬁllinﬁ
X*3_y-) p-5

-1 . - T

(b) Solve the |inear ing problem by
xr+ ygq_xgu.:ghnﬂ:ﬁmh‘msmm.
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